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4>?65= <<5FL ?5G4F=O5 </<?< M?5>FD>==O5 >5D47>64F5?L=O5 < <=D>D<4F<>==O5 

D5EGDEO, 4?O <E?>?L7>64=<O 6 >5D47>64F5?L=>< ?D>F5EE5. �D< D>D<<D>64=<< 

5<5?<>F5G=>7> D>=44 >5D47>64F5?L=>= >D74=<74F<5= 6O5<D45FEO =5 <5=55 >4=>7> 

<744=<O <7 ?5D5G<E?5==OE =<65 ?5G4F=OE <744=<= < (<?<) M?5>FD>==OE <744=<= 6 

>4G5EF65 >E=>6=>7>, ?D< MF>< E?<E>> <>65F 5OFL 4>?>?=5= =>6O<< <744=<O<<. 

 

3.2.1. �E=>6=O5 ?5G4F=O5 <744=<O 
1. �>D>6>>6, .. �. �E=>6O 7>D=>7> 45?4 : GG55=<> / .. �. �>D>6>>6, �. �. 

�D>5445=>>, �. �. $55D<>>6. 4 4-5 <74., EF5D. 4 %4=>F-�5F5D5GD7 : �4=L, 2019. 4 

468 E. 4 ISBN 978-5-8114-2147-3.  

2. �><4M5=>>, �. �.  &5E=>?>7<O ?D>6545=<O 7>D=>-D47654>G=OE 6OD45>F>> : 

GG55=<> 4?O 6G7>6 / �. �. �><4M5=>>, .. �. �4?OL56, �. �. $54G=5F. 4 2-5 <74. 4 

�>E>64 : �744F5?LEF6> .D4=F, 2022. 4 668 E. 4 (�OEL55 >5D47>64=<5). 4 

ISBN 978-5-534-12044-8.  

 
3.2.2. �E=>6=O5 M?5>FD>==O5 <744=<O 
1. �>D>6>>6, .. �. �E=>6O 7>D=>7> 45?4 : GG55=<> / .. �. �>D>6>>6, �. �. 

�D>5445=>>, �. �. $55D<>>6. 4 4-5 <74., EF5D. 4 %4=>F-�5F5D5GD7 : �4=L, 2019. 4 

468 E. 4 ISBN 978-5-8114-2147-3. 4 &5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-

5<5?<>F5G=4O E<EF5<4. 4 URL: https://e.lanbook.com/book/111398  4 $56<< 

4>EFG?4: 4?O 46F>D<7. ?>?L7>64F5?5=. 

2. �>?<>, �. �. �D<D>4>>ED4==O5 F5E=>?>7<< D47D45>F>< DG4=OE 

<5EF>D>645=<= : GG55. ?>E>5<5 / �.�. �>?<>. 4 �. : ��$$�-�, 2018. 4 192 E. 4 

(�OEL55 >5D47>64-=<5: �4>4?46D<4F) - www.dx.doi.org/10.12737/638. - ISBN 978-5-

16-006749-0. - &5>EF : M?5>FD>==O=. - URL: 

https://znanium.com/catalog/product/9598923 $56<< 4>EFG?4: ?> ?>4?<E>5. 

3. �><4M5=>>, �. �.  &5E=>?>7<O ?D>6545=<O 7>D=>-D47654>G=OE 6OD45>F>> : 

GG55=<> 4?O 6G7>6 / �. �. �><4M5=>>, .. �. �4?OL56, �. �. $54G=5F. 4 2-5 <74. 4 

�>E>64 : �744F5?LEF6> .D4=F, 2022. 4 668 E. 4 (�OEL55 >5D47>64=<5). 4 

ISBN 978-5-534-12044-8. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 

.D4=F [E4=F]. 4 URL: https://urait.ru/bcode/495373  

4. �>D>=>6E><=, �. �. �5>?>7<O 4?O 7>D=>7> 45?4 : GG55=>5 ?>E>5<5 / �.�. 

�>D>=>6E><=, �.�. %F4D>EF<=, �.�. �64>=<=. 4 2-5 <74., EF5D. 4 �>E>64 : ��$$�-
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�, 2022. 4 576 E. 4 (�OEL55 >5D47>64=<5: %?5F<4?<F5F). - ISBN 978-5-16-011719-

5. - &5>EF : M?5>FD>==O=. - URL: https://znanium.com/catalog/product/ 

5. �G>LO=>6, �. �.  �7DO6=O5 D45>FO : GG55=<> 4?O 6G7>6 / �. �. �G>LO=>6, 

�. �. �><4M5=>>, �. �. ,<GDO7<=. 4 2-5 <74. 4 �>E>64 : �744F5?LEF6> .D4=F, 

2022. 4 402 E. 4 (�OEL55 >5D47>64=<5). 4 ISBN 978-5-534-03748-7. 4 &5>EF : 

M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 

https://urait.ru/bcode/492711   
3.2.3. �>?>?=<F5?L=O5 <EF>G=<><  
1. �7>D>6 �.�. �E=>6O 7>D=>7> 45?4: GG55=<> 4?O 6G7>6 / �.�. �7>D>6, �.�. 

�>55D,  ..�. �G7=5F>6, �.�. �>EL<<=>6, %.�. $5L5F>6, �.�. �D4EN>. - 2-5 <74., EF5D. 

- �.: �74-6> ���', 2006. - 408 E.- ISBN 5-7418-0448-9 

2. &DG55F>>= �.�. �E=>6O 7>D=>7> 45?4: GG55=<> / �.�. &DG55F>>=, ..�. 

�4?G5=>>. �>4 D54. 4>44. �.�. &DG55F>>7>. 3 �.: �>445<<G5E><= �D>5>F, 2010. 4 

231 c. 3 ISBN 978-5-8291-1123-6 
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